Class XII Chapter 9 - Differential Equations Maths

vy . -
%ﬂ;m{_r J=0
Determine order and degree(if defined) of differential equation dlx
Answer
v . "
‘ I +sin{y")=0

i
= 3" +sin(»")=0

mr

The highest order derivative present in the differential equation is? . Therefore, its
order is four.
The given differential equation is not a polynomial equation in its derivatives. Hence, its

degree is not defined.

Determine order and degree(if defined) of differential equation y+5y=0

Answer
The given differential equation is:

¥4+5y=0

’

The highest order derivative present in the differential equation is+ . Therefore, its order

is one.

r ’

It is a polynomial equation in . The highest power raised to Vis 1. Hence, its degree is

one.

¢ ey 2,
L I P
Determine order and degree(if defined) of differential equation "</ dt
Answer
Lt ) dr”
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d’s
The highest order derivative present in the given differential equation is dr’ . Therefore,
its order is two.
d’s ﬂ d’s
It is a polynomial equation in dt* and d! . The power raised to dr s 1,

Hence, its degree is one.

'r’dl:_'l:\" '(u‘j!:\'
— | +eos| — |=0
Determine order and degree(if defined) of differential equation * “ Ly
Answer
[ d’ u=\"“ e
— | +cos| — |=10
| e 4 \ elx g

d’y
The highest order derivative present in the given differential equation is dx’ . Therefore,
its order is 2.
The given differential equation is not a polynomial equation in its derivatives. Hence, its

degree is not defined.

o

dy .
=~ =cos3x+sin3x
Determine order and degree(if defined) of differential equation dx

Answer
d*y )
— = 08 3x +s8in 3x
dr’
= —¢os3x—sin3x =0
7

d*y
The highest order derivative present in the differential equation is d’® . Therefore, its

order is two.

Page 2 of 120



Class XII Chapter 9 - Differential Equations Maths

dy d vy
It is a polynomial equation in @" and the power raised to @%" is 1.

Hence, its degree is one.

Determine order and degree(if defined) of differential equation
Y+ +() +5F =0
Answer

(" }‘ +( " }" + {_\":I +y =0

L

The highest order derivative present in the differential equation is* . Therefore, its
order is three.
The given differential equation is a polynomial equation in+ ¥ .and y"

L

The highest power raised to-" is 2. Hence, its degree is 2.

Determine order and degree(if defined) of differential equation +2y7+)=0

Answer
P2+ =0

L

The highest order derivative present in the differential equation is? . Therefore, its
order is three.

", y" and ' "

It is a polynomial equation ind . The highest power raised to Yois 1. Hence, its

degree is 1.

Determine order and degree(if defined) of differential equation ¥ ¥V =¢

Answer
yt+y=e¢

=y +y—e" =0
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r

The highest order derivative present in the differential equation is+* . Therefore, its order

is one.

The given differential equation is a polynomial equation in and the highest power

r

raised to- is one. Hence, its degree is one.

. o . . () +2y=0
Determine order and degree(if defined) of differential equation

Answer

() +2y=0

L

The highest order derivative present in the differential equation is* . Therefore, its

order is two.

The given differential equation is a polynomial equation in' and? and the highest

L

power raised to! is one.

Hence, its degree is one.

Determine order and degree(if defined) of differential equation - +2y +siny=0

Answer
¥ +2) +siny =0

L

The highest order derivative present in the differential equation is+* . Therefore, its

order is two.

L

This is a polynomial equation in+ and+ and the highest power raised to- is one.

Hence, its degree is one.

The degree of the differential equation

[ d*y ) dvy L dv)
= |+ — | +sin| — |+1=0
L [ Ldx ) L el ) is
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(A) 3(B) 2 (C) 1 (D) not defined

Answer
(dy ) dv’y L dv)

= | + —| +sin +|+I=D
| dx J o ) L ex )

The given differential equation is not a polynomial equation in its derivatives. Therefore,
its degree is not defined.

Hence, the correct answer is D.

The order of the differential equation

229V 3o
ﬂh‘" f.l'{r |S

(A) 2 (B) 1 (C) 0 (D) not defined

Answer
229V 3 g
dv” d

d v
The highest order derivative present in the given differential equation is dx’® . Therefore,
its order is two.

Hence, the correct answer is A.
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v=e"+I1 oy =y' =1
Answer
y=e" +1

Differentiating both sides of this equation with respect to x, we get:

£= d (c‘+|]|

dy

= =e' A1)

Now, differentiating equation (1) with respect to x, we get:
e d

E[.L'J?': {C‘?T}

dx

= y'=¢"

Substituting the values of ¥ and Vi the given differential equation, we get the L.H.S.

as:
y'—y'=¢" —e"=0=R.H.5.

Thus, the given function is the solution of the corresponding differential equation.

y=x"+2x+C Dy =2x-2=10
Answer
y=x"+2x+C

Differentiating both sides of this equation with respect to x, we get:

¥ = ;—i{x +2x+ (.‘]

=y =2x+2

Substituting the value of* in the given differential equation, we get:

Y -2x-2=2x+2-2x-2=0

L.H.S. = = R.H.S.

Hence, the given function is the solution of the corresponding differential equation.
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y=cosx+C D v +sinx =0
Answer
y=cosx+C

Differentiating both sides of this equation with respect to x, we get:

d )
V'=—/(cosx+C
v (eosvec)

= ¢ =—sinx
Substituting the value of ¥ in the given differential equation, we get:
LHS = _1"’_ Siﬂ .".‘ = _Sin .1.‘ +Si|‘| X ='D = RHS

Hence, the given function is the solution of the corresponding differential equation.

— . XV
y=al+x =
|+ x
Answer
y= M+ x°

Differentiating both sides of the equation with respect to x, we get:
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v = .\."']-i-'n'
. cx(- )
, | i
V= '(—“-i—.‘t'}
24J1+x7 dx
, 2x
Yy =
21+ 2"
, x
-:ll = -
Jl+x
' X f 2
=y = w4+
[+ x°
' X
=y = —-3
[+ x~
,_xy
=¥y =——
1+ x°
-+ L.H.S. = R.H.S.

Hence, the given function is the solution of the corresponding differential equation.

y=Ax D x'=p(x#0)

Differentiating both sides with respect to x, we get:
d

p'=—( Ax)

' r;f_t{ ’

= ' =A

Substituting the value of ¥ in the given differential equation, we get:
LHS. =xy'=x-A=Ar=y=RHS,

Hence, the given function is the solution of the corresponding differential equation.

- 1
y=xsnxy Xy =+ ,'l.'\;'.\‘" -V [.'r #0andxy>vorxy< —j']

Answer
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¥=xsinx
Differentiating both sides of this equation with respect to x, we get:
d :
y'=—(xsinx)
el
.. d d .
= V' =sinx-—(x)+x-—(sinx)
el fehs :
=y =sinx+xcosx
Substituting the value of ¥ in the given differential equation, we get:
L.H.S.=x' = x(sinx + xcos x)
= xsinx+x° cosx

- f 5
=y+x -yl=sm x

o
=y+x I|1 |l]

=yt —x

=R.H.5.
Hence, the given function is the solution of the corresponding differential equation.

¥

=X (xy=1)

xy=logy+C 1 y'=
1—xy

Answer

xy=log v+C

Differentiating both sides of this equation with respect to x, we get:
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d d
—(xp)=—(log y
ufr{ Y) fl‘fr{ gy)
o dy 1 dy
= yp—(x)+x—=—
dx dv oy

I,
= y+xy'=—y
N

=y +xry =y

= (xy—1)y" = -y’

i 1‘3
= .]_' = =

~+L.H.S. = R.H.S.

Hence, the given function is the solution of the corresponding differential equation.

y—Ccosy=x
Answer
y—Ccosy=x

(vsiny+cosy+x)y =y

(1)

Differentiating both sides of the equation with respect to x, we get:

= VY +siny-y =1
= y'(1+siny) =1
, 1

=y =—
I+smy

Substituting the value of in equation (1), we get:
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L.H.S.=(ysiny+cosy+x))
1

=(ysiny+cosy+ y—cosy)x——
[ +sin y

= | 1+sin ¥)-
'1{ } 1 +siny

=1

=R.H.5,

Hence, the given function is the solution of the corresponding differential equation.

Answer

x+y=tan"y

Differentiating both sides of this equation with respect to x, we get:

b i 4
—(x+v)=—0/tan " ¥
finy : } fﬁ'{ ’ }

, | ;
=1+y= — ¥
1+

=y’ : ~—-1|=1
L 1+)°

[1-(147)

1+ y°

S P
1+

Substituting the value of in the given differential equation, we get:
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L A =(1+7) ]
LHS. =y V' +y +l=y | ————= |+ +]

'..-I
=-1-y" +3" +1
=0
=R.H.5.

Hence, the given function is the solution of the corresponding differential equation

y=+a -x'xe(-a.a) ! J~‘+J"‘—{y:ﬂ[}'iﬂ]
dly
Answer

y=va' -x’

Differentiating both sides of this equation with respect to x, we get:

dy oy
dy | di .
dy  2Jgt —x7 dx :

dy
Substituting the value of d% in the given differential equation, we get:

dy —  —x
L1 I.S,=x+vy'd;‘=x+m"a' — X e
»

Ja -
=X—X
=0
= RH.S,

Hence, the given function is the solution of the corresponding differential equation.
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The numbers of arbitrary constants in the general solution of a differential equation of
fourth order are:

(A)O0O(B)2(C)3 (D)4

Answer

We know that the number of constants in the general solution of a differential equation
of order n is equal to its order.

Therefore, the number of constants in the general equation of fourth order differential

equation is four.

Hence, the correct answer is D.

The numbers of arbitrary constants in the particular solution of a differential equation of
third order are:

(A)3(B)2(C)1 (D)o

Answer

In a particular solution of a differential equation, there are no arbitrary constants.

Hence, the correct answer is D.

Page 13 of 120



Class XII Chapter 9 - Differential Equations Maths

Xy

a b

Answer

X v

—+==1
a b
Differentiating both sides of the given equation with respect to x, we get:

1y

=0
a  bdx

:>l+l)"— 0
a b

Again, differentiating both sides with respect to x, we get:

1

D+—y"=0
b
1,

= —y =0
b

= " =0

Hence, the required differential equation of the given curve is* = 0.

.L'? - u{h? —x ]

Answer

y= u{h? —x ]

Differentiating both sides with respect to x, we get:
E‘L'L: =a(-2x)

= 2y =-2ax
= ' = —ax A1)

Again, differentiating both sides with respect to x, we get:
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Yoy +w'=-a
:>{}"}:——_1'_1'”=—u A2)
Dividing equation (2) by equation (1), we get:

(_v']: + " _ -a

» —ax
= "+ _1.'{_1-'}: —-w' =0

This is the required differential equation of the given curve.

v=ae +he™

Answer

V= ae’” +pe " A1)

Differentiating both sides with respect to x, we get:

y'=3ae™ = 2be™ .(2)

Again, differentiating both sides with respect to x, we get:

V' =9ge™" +4be .(3)

Multiplying equation (1) with (2) and then adding it to equation (2), we get:
['Ew.*“ +2be™" }+ ['3.;4'::“' —2be " ] =2y+)

= Sae’ =2y+)'

X

v 2y+Y
— ae’ =

5
Now, multiplying equation (1) with equation (3) and subtracting equation (2) from it, we
get:
(3ae™ +3be™" )~ (3ae™ ~ 2be ™" | =3y~ )’
= She " =3y -y’
3y=y

5

2x

= he " =

Substituting the values of @€ and be ™" iy equation (3), we get:
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Cy+y), ,Gr-)

W= 0.
' 5 5
o 1By+9y" 12v—4y
=" = -
' 3 3
e J0y+54
3

=y =6y+)’
=y =y =6y=0

This is the required differential equation of the given curve.

y=e" {u +bx)

Answer

y=e {a+bx) el 1)

Differentiating both sides with respect to x, we get:

V=2 (a+bx)+e b

= V' =e"(2a+2bx+b) ~(2)

Multiplying equation (1) with equation (2) and then subtracting it from equation (2), we

get:

V' =2y=e"(2a+2bx+b)-e" (2a+2bx)

= ¥ -2 =bhe™" .(3)

Differentiating both sides with respect to x, we get:

Vi =2y = 2be™ )

Dividing equation (4) by equation (3), we get:

¥ =2y
V=2
= =2y =2y =4y

=2

=y =4y +4y =10

This is the required differential equation of the given curve.
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y=e"(acosx+bhsinx)

Answer

v=e¢" (acosx+bsinx) el 1)
Differentiating both sides with respect to x, we get:
V'=e'(acosx+bsinx)+e’ (—asinx+bhcosy)

=y =e [{ a+b)cosx—(a—b)sin .x]

=
2

Again, differentiating with respect to x, we get:

N

¥ {="| (a+b)cosx—(a—b)sinx ]—e‘ —(a+b)sinx—(a—b)cosx |
y=e" [Zh cosx—2asin ,'n.']
" =2¢" (bcosx—asinx)

N

) . _
=-=e (hcosx—asinx) A3

Adding equations (1) and (3), we get:
Ve % =g [{ a+bjcosx—(a—b)sin .r]

1
= y+—=y
2

[}
= 2y+y" =2y
=" -2y"+2y=0

This is the required differential equation of the given curve.

Form the differential equation of the family of circles touching the y-axis at the origin.
Answer

The centre of the circle touching the y-axis at origin lies on the x-axis.

Let (a, 0) be the centre of the circle.

Since it touches the y-axis at origin, its radius is a.

Now, the equation of the circle with centre (a, 0) and radius (a) is
{_r—u}: +y'=a’,

= x° +_1': = 2ax 1)
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-
raf

Differentiating equation (1) with respect to x, we get:
2x+ 20 =2a
=x+w=a

Now, on substituting the value of a in equation (1), we get:

-

4y =2{x+ 0 )x
= x +y =2+ 2
= 2xp +x =y

This is the required differential equation.

Form the differential equation of the family of parabolas having vertex at origin and axis

along positive y-axis.

Answer
The equation of the parabola having the vertex at origin and the axis along the positive

y-axis is:

x’ = dav A1)
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o
-

Vi |
Differentiating equation (1) with respect to x, we get:
2x=4m 2]

Dividing equation (2) by equation (1), we get:

2x  day’

x day

= xy' =2y
= xy' =2y=0

This is the required differential equation.

Form the differential equation of the family of ellipses having foci on y-axis and centre at

origin.

Answer

The equation of the family of ellipses having foci on the y-axis and the centre at origin is

as follows:

+—=1 . 1)
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Yy
o

X X

- BT -
Y'Y

Differentiating equation (1) with respect to x, we get:

-2 % ) (2

Again, differentiating with respect to x, we get:

1 v+
N

. o _ — '.j
b o
= 1‘ i+ ]ﬁ ( v+ 1'1'"}= 0
Y el .
1 1 2 )
——=——V  + ¥
h- a- {'L o }

Substituting this value in equation (2), we get:

x{—”]—_,(f_.;.-’]: + II.:I.'"]:| +% =1)

= —x(y) —ap" )y =0
= x"+x () -y =0

This is the required differential equation.
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Form the differential equation of the family of hyperbolas having foci on x-axis and
centre at origin.

Answer

The equation of the family of hyperbolas with the centre at origin and foci along the x-

axis is:
R .
=== A1)
a- b
Y4
X ¥
- = -
o |

Differentiating both sides of equation (1) with respect to x, we get:
2x Iy
———5—=0
a h”
o

=0 ol 2)

y

a b
Again, differentiating both sides with respect to x, we get:

| S L s
P A AL/ A |

- b

1

Substituting the value of a’ in equation (2), we get:
X 2 VY
() " )= =0
b [ J + ) b

=3 [:,L"]: +xp - =0

= 0"+ .r{_r'}: —w'=0
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This is the required differential equation.

Form the differential equation of the family of circles having centre on y-axis and radius
3 units.

Answer

Let the centre of the circle on y-axis be (0, b).

The differential equation of the family of circles with centre at (0, b) and radius 3 is as
follows:

Ca(y-b) =3

:>:n':+|:l1.'—h}j:9 (1)

e
lfx

&)

Y'Y

Differentiating equation (1) with respect to x, we get:
2x+2(y=h)-y'=0
= (y-b)y'=-x
= y-h= _1
.‘I

Substituting the value of (y — b) in equation (1), we get:
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= (x=9)()) +x7=0

This is the required differential equation.

Which of the following differential equations has”

d'y

+yv=10
A, ¢

d’y a

y=0
B. dv’

d*y
c. v’

+1=0

"y
2 1=0
D. dx’

Answer

The given equation is:

_],.-=|'_'|(;'IL bo,e A1)
Differentiating with respect to x, we get:
dy . .

—— =g =0,

dx

Again, differentiating with respect to x, we get:

=ce’

Fo,e

X
as the general solution?
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d v . -
——=ce +c,€
de”

d v

dx’

T

=¥
2.,
= ——y=0
frie
This is the required differential equation of the given equation of curve.

Hence, the correct answer is B.

Which of the following differential equation has-¥ = * as one of its particular solution?

dy L dy
- XT XY =X
A, dx dx
d*y cly
ok X = XY = X
B. ¢ ax
?rl s v
‘ 1 X" ) +xy =10
c. dx’ dx
v ey
‘ 1 +x—+xy=0
D. v dx
Answer

The given equation of curve is y = x.
Differentiating with respect to x, we get:
jl N
Yy (1)

dx

Again, differentiating with respect to x, we get:

d vy
=0 -(2)
e’
i°y fy
‘ 1 ., and &
Now, on substituting the values of y, dlx dx from equation (1) and (2) in each of

the given alternatives, we find that only the differential equation given in alternative C is

correct.
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Class XII
d v

1 —X i*u':lﬂl—r [+xx
de dx

Hence, the correct answer is C.
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dy  1-cosx
dr  l+cosx
Answer

The given differential equation is:

dy  1-cosx
dy  l+cosx

Lo X
dv 2sin” .
- 2 =ran“'5
ax z &
2cos
2
dy cx
= —=|sec’ ——1 |
dr 2

Separating the variables,we get:
b1

v

S
d3=_| sec” ——1
b 2 4

Now, integrating both sides of this equation, we get:
+ X + X
ftfv' = J(scc' ——I]dx = jsm:' —ci\'—fd,v
2 2

X .
= y=2tan_-x+C

This is the required general solution of the given differential equation.

o
%:Mnfl—}" (-2<y<2)

Answer

The given differential equation is:
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ﬂ 1\J'f;l — _J":
friy
Separating the variables, we get:

dy

.
[4— 7

N
Now, integrating both sides of this equation, we get:

J'—“ir = J'f.",\'

Ja-y’

= dx

—sin' L =x4C
2

::*%:sin(,wf_‘}

= y=2sin(x+C)

This is the required general solution of the given differential equation.

ﬁ"l-‘
—+y=1|r=l
S tr=10r=1)

Answer

The given differential equation is:

dv

—+y=1

= dv+y dv=dx

=dv=(I _1-‘}(;&'

Separating the variables, we get:
dy

:> — = {,'jl'_'g'
-y

Now, integrating both sides, we get:
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(-2~ fax

-y
= lug{l —_\'}z x+logC
= ~logC-log(l-y)=x

= logC(1-y)=-x

=C(l-y)=¢"
=1- L':le"'
B
1 .
= y=l-—c¢
C

. |
— y=1+A4de " (where 4= —E]

This is the required general solution of the given differential equation.

sec’ xtan ydy+sec’ ytanxdy =10
Answer
The given differential equation is:
sec” xtan ydx+sec” vtanxdy =0
sec” xtan ydx +sec” ytan x dy 0
tan x tan y

sec’ x sec’ y
v+ J dv=0

tan x tan v

sec” x sec’ y
dx = —dy

tan x tan y

Integrating both sides of this equation, we get:

SECiJL' S'Ei.:'1I ¥V
f=- —dy w1
J-tanx{ Itany ’ ”
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Let tanx =1,
df
(tanx)=
dx dx
, ot
= seC X =—
o

— sec” xdy =df

sec” x ]
Now, I dy = J— dr.
lan x f

=logt

= log(tan x)

. i 2 x
Similarly, F ¢ lafr= ]ug{lam v).
tanx

Substituting these values in equation (1), we get:

lug[lun x)=~log(tan 1] FlogC

[ C
= log(tanx) = log J
: \tan y

= lanx =
tan v

= tanxtan y=C

This is the required general solution of the given differential equation.

(GT+(.’ '}{.{1'—((?1 —¢ ’]m",‘f—U

Answer
The given differential equation is:

Iie” [ e"‘}la’y {L‘J" e"‘]a’x=ﬂ
= (e’ +e " dy=(e"~e ")

X -
& o—g
= dy= - ldx
’ e +e”

Integrating both sides of this equation, we get:
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J-aj-'= GT_U ~x+C
e +e
= y= LJT ¢ — dx+C 1)
e +e- ] o

Let (e“ + e™) = t.
Differentiating both sides with respect to x, we get:

di. _c_:’r
&) g

. . dt
e - =
ot

= (e"—e ’]L{l‘ =l

Substituting this value in equation (1), we get:
1

y=|-dt+C

y=

= y=log(¢)+C

= y= |0g{c.*" +e ”] +C

This is the required general solution of the given differential equation.

D (1ex)(14?)

Answer
The given differential equation is:

D (1+22)(1+5?)

dx
dy
1+

(147 )ax

Integrating both sides of this equation, we get:
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I g _ = J{] +.1::}(.h'

1+

—tan" y= |dy+ I_x'zeil'

x
= tan 'y :.1'+?+L‘

This is the required general solution of the given differential equation.

viog vav—xdv=10

Answer

The given differential equation is:
viog vy —xdv=10

= ylog vy = xdy

dy dx

viegy x

Integrating both sides, we get:

oy =I5 )

ylogy x

Let log vy =1.

d el
log v)=
f{r[ ey) dv
L
ooy
=>i_f{n-'=cff

}

Substituting this value in equation (1), we get:
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di _ pdv
t T x

= logt =logx+logC
= log(log y)=logCx
= logv==Cx

Lx

= y=e

This is the required general solution of the given differential equation.

s dv 5
X ===y
dlx
Answer

The given differential equation is:

5 d" 5

X ——=-y
e
dv dx

= 5=
% e
de dy

= —+—=0
oy

Integrating both sides, we get:

—+=k {(where k is any constant)

5

ri‘c ah
+ [%
X W

= Jx '=¢;!'r+ J._w-‘ dv=k

i
A

SN
4 -4
= x '+t =4k
=xt4yt=C (C=—4k)

This is the required general solution of the given differential equation.
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dy
—J=SII'I 'x
dx
Answer

The given differential equation is:

)
Y _sin' x

dx

= dy=sin"' x dx

Integrating both sides, we get:
J-ufv - Isill 'y

= = J(_sin '.T-l]u‘.r

= y=sin"'x- j{l]a{r— '[H%[sin" x): j{l}u’r” oy

= y=sin ' x-x j[ | t"lh
= X — “X |dx
) ‘ﬂ}ll _I: fl
. —X
= y=xsin x4+ |—=dx (1)
le—x"
Let 1—x" =1.
d . adr
= —|l=x")=—
u‘.r[ ] oy
= —2x= dar
ax

= .1‘dx=—%df

Substituting this value in equation (1), we get:
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l
e | I
y=xsin x+ JE\."'F dt

1
= p=xsin x+—- |(#) 2 df
) ) [(r)

+C

b | —
ta =]

= y=xsin" x+t+C
. | f 5 -
= p=xsin x+yl-x"+C

This is the required general solution of the given differential equation.

e' tan ydx +(1—e" Jsec” yey =0
Answer

The given differential equation is:
¢' tan v dy +{] —e" }SL‘C: vdy=10
(1-¢ )sec’ ydy = —e" tan y dx
Separating the variables, we get:

sec” —e"
= dy = —
tan y 1-¢

Integrating both sides, we get:

j-.\jec' iy dy = - v (1)

tan v 1-¢'
Let tan y=wu,

{ di

= (tany) ="

dy e

2 il
—sec’ y=—
dy

= sec” ydy = du
’ i
sec” v du
" _[ ~dy = j =logu =log(tan y)
tan v u
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Now, let 1—¢g" =r.

S o)
vy Ty
o
=" =—
oy
= —¢"dy = dt

= J‘]_ET dx = [$: log7 =log(1-¢")

—_— H"'

sec” y

dv and J- i{i}:
1 N

tan y -

Substituting the values of

= log(tan y)=log(1-¢")+logC

= log(tan y)= lng[f{l e' ]J]
:>13n_1==C{|-€'1]

This is the required general solution of the given differential equation.

. dy
{J: X 4+ I};z 2y 4 x;v=1 whenx=10
Answer

The given differential equation is:

(&7 +x7 +x +]}%= 27 +x
X

dv 2 +x
vy {.'c] +x 4+ x4 I]

2x +x
= dy=—"—"—dx

(x4 ]]{_'r: : 1}

Integrating both sides, we get:

in equation (1), we get:
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742 .
J-(.ﬁ-' = d—-l_,‘a’l {]}
(x+1)(x>+1)
Al e
Let 2x +:‘ _ A +Bl~+( . {2}
{,1.‘+]J(,1."+|] x+l x +1 i
2 +x A+ A+(Bx+C)(x+1)

= . -
(.r+l}{x‘+|j| {_'r+l](x"+1}

=2 bx=Ar + A+ B + Br+Cx+C

=2 +x=(A+B)x’ +(B+C)x+(4+C)

Comparing the coefficients of x* and x, we get:

A+B=2
B+C=1
A+C=0

Solving these equations, we get:

.4:1, B=2and C =
2 2

Substituting the values of A, B, and C in equation (2), we get:

2% +x _1o +|{3x—l}
{_r+1}{.1"1+l) 2 (x+1) 2(.1’:—1}

Therefore, equation (1) becomes:
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1 p3x—1
J-rfj— _[ ir+2_|':j+ldx

x+1
x 1 1
= y= —qu[x+l} — = — | ———dx
X+l 2°x +1
3oce 1
= y=_log(x+1)+ I dy——tan x+(
g xo+1 2
3, L
=y=—lo g[x+l;|+1|ng[x +1)—Etdn x+(

2log(x+1) +_‘llﬂE(T +I]}—ltun"x+(_'

il
[{r+|} 1 +1) }—%tan"x%ﬁ' -(3)

l

=1=—log
4

=;~I—l D——=0+C
4

= (=

Substituting C = 1 in equation (3), we get:

_] z 2 i 1 -1,
}J_E[Ing[x+l} {_x +I] :|—;tan x+1

Question 12:
1{,\' —I)ﬂ—l; y=0 when x=2
elx
Answer
dy
\(r —I) i =1
dx

x(.r:—l)
|
x[x—l]{xﬂ}m

Integrating both sides, we get:

= dv=

=dyv=
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I
Iﬂﬁ'z I.r{.*:— |][.1‘+1}n& (1)

I A B - N
Lct_t[.t‘—l}{.r+l]:?+.‘r—l+_\'+|' ~(2)
N | _ A =(x+1)+ Br(x+1)+Cx(x-1)

x(x=1)(x+1) x(x=T)(x+1)

(A+B+C)x +(B-C)x—4

- x(x=1)(x+1)
Comparing the coefficients of x?, x, and constant, we get:
A=-1
BE-C=0
A+B+C=10

E=

Solving these equations, we get

Substituting the values of A, B, and C in equation (2), we get:
1 -1 1 1

f-D(x+1) x 2(x-1) 2(x+1)

Therefore, equation (1) becomes:

|
2
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| 1 1 11
h=— I + v+ rh
J‘(} jx{‘c 2 L.'—If 2 -lx+lfx
= rl.'=—Iﬂgx+%Iog[x—l}+%lﬂg_{x+ 1) +logk
ﬁ}.-:ilnmg{k [x—|1}(x+l]] {3}
X

Now, y=0 whenx=2,

E(2-1)(2+1
= U= llug’w]
2 4
3k’
log| == [=0
- ng[ ¢ ]
3K,
4
=3k’ =4
=k’ =§
i |

Substituting the value of k% in equation (3), we get:

A(x—1){x+1
y=l]0g —{r }£T+ ]1
2 i 3x°
TR
y:_]ag (—-\.)
2 Ix

Question 13:
cos[ﬁ] =alacR):y=1whenx=0

dx

Answer
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dy -1
= —=0C05
oy

— dy=cos” adx

Integrating both sides, we get:
Iﬂ’y =cos ' a _[c.f’.r

= y=cos 'a-x+C

= y=xcos 'a+C (1)

Now, v=1whenx =0,

=1=0.cos ' a+C

=C=1

Substituting C = 1 in equation (1), we get:

y=xcos a+l

v—1 -1
=cos a
X
vl
— CO5| - =d
X
dy
@ _ ytanx;y =lwhenx =10
dx
Answer
dv
— = ylanx
dx

= ﬂ = tan x dlx
JE‘

Integrating both sides, we get:
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j- % =— j-tan xddv

= log » = log(secx)+log C
= log y = log(Csecx)

= y=Csecx (1)

Mow, y=1whenx=10.

= 1 =Cxsecl

=1=Cxl1

=C=1

Substituting C = 1 in equation (1), we get:

y = Sec X

Find the equation of a curve passing through the point (0, 0) and whose differential

. L1 =g"51
equation is? ¢ SI0X,

Answer
The differential equation of the curve is:

y'=e"sinx

dv .
—>——=¢ §inx
A
= dy=¢"sinx
Integrating both sides, we get:

In{r -~ J{r"'sin xdx (1)

Let! = Jc’ sin x o,

= [ =sin .\'jcr"d.r— J{%{Sin x)- j‘e“u'.r.Ju’.\'
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= [ =sinx-e" — [cos_\'-{r”c{r
. . fd .
= [ =sinx-e —[cosx v “dv - ﬂ —(cos x)- Ie cir];f,tw
\ el

—>I:Sin.r-c*”—|i 05 % ¢ —J :-Ir'u} e rh}
= [=¢"sinx—e " cosx—1
— 2] =¢" (sinx—cos x)

¢" (sinx—cosx)
2

Substituting this value in equation (1), we get:

e (sinx—cosx)

y= 5 +C -(2)

Now, the curve passes through point (0, 0).

" {:-:in 0-cos0)

0= +C
2
1{0-1
:>U:{ ) 1
2
o
= =—
2
C:]

Substituting Zin n equation (2), we get:

_e"(sinx—cosx) 1
- 2 )
= 2y=¢"(sinx—cosx)+1

= 2y—l=¢"(sinx—cosx)

Hence, the required equation of the curve is

1:;£-{1+"’}{_1-‘+2:],

For the differential equation dy find the solution curve passing

through the point (1, -1).

2y—l=e"(sinx—cosx).
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Answer

The differential equation of the given curve is:

ey
= = 2)(v+2
s (x+2)(y+2)
:>| Y Wuﬁ.'=[¥ 2|c.r’1f
'ke]'l+2/ T S
i a0 2
=|1-— c{r:[l+ |dix
y+2 )

Integrating both sides, we get:

i 2 b
Jl-
. y+2

= J-u’}' -2 jﬁf ¥ J-f-'fr +2 j'%”l"‘l

4 -
dy = -” 14 |c1‘l.‘l.'
\ A

— y-2log(y+2)=x+2logx+C

= y—x—-C=logx’ +log(y+2)

ey x-Colog (342 ] ¥
Now, the curve passes through point (1, -1).
—_]-1-C= lﬂg[(l}:{—l+2}:}

= -2-C=logl=0

=C=-2

Substituting C = -2 in equation (1), we get:
_L'—_r+2:lﬂg[r?{_r+3]:]

This is the required solution of the given curve.

Find the equation of a curve passing through the point (0, -2) given that at any point

X,V . . .
[ : }on the curve, the product of the slope of its tangent and y-coordinate of the point

is equal to the x-coordinate of the point.

Answer

Let x and y be the x-coordinate and y-coordinate of the curve respectively.
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We know that the slope of a tangent to the curve in the coordinate axis is given by the
relation,

.:i‘f'l-‘

dx

According to the given information, we get:

dy
Y _
dx

= vdv =xdx

Integrating both sides, we get:

J_r dy J,r el

=y —x =2C (1)

Now, the curve passes through point (0, -2).

~(-2)2-0%=2C

=>2C=4

Substituting 2C = 4 in equation (1), we get:
y’-x>=4

This is the required equation of the curve.

At any point (x, y) of a curve, the slope of the tangent is twice the slope of the line
segment joining the point of contact to the point (-4, -3). Find the equation of the curve
given that it passes through (-2, 1).

Answer
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It is given that (x, y) is the point of contact of the curve and its tangent.
y+3

The slope (m;) of the line segment joining (x, y) and (-4, -3) is x+4

We know that the slope of the tangent to the curve is given by the relation,
ﬂrJ-‘

dv

. Slope (m, ) of the tangent = ET
clx

According to the given information:

m, =2m,
ﬁf‘p 3 2{_!-‘+ 3}
de x+4
dv 2y
y+3 Cx+4

Integrating both sides, we get:

I ,d"rﬁ =5 I;m‘

y+3 +4
=2

= log(v+3)=2log(x+4)+logC
= log(y+3)log C(x+4)

= y+3=Clx+4) (1)
This is the general equation of the curve.

It is given that it passes through point (-2, 1).

= 1+3=C(-2+4)

= 4=4C

= C=1

Substituting C = 1 in equation (1), we get:
y+3=(x+4)>

This is the required equation of the curve.
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The volume of spherical balloon being inflated changes at a constant rate. If initially its
radius is 3 units and after 3 seconds it is 6 units. Find the radius of balloon after t
seconds.

Answer

Let the rate of change of the volume of the balloon be k (where k is a constant).

v
SN

dar

(4 [ . 4 .
- nr ]— & Volume of sphere = —ar

df | 3 | 3

4 IE':"H‘?- (I'IJ' =1':.'

3 ot

= 4w’ dr = k dt
Integrating both sides, we get:

an [Fdr =k jm

= 4;1-% =kt+C
3

= dnr’ =3 (ke +C) (1)
Mow,atr=0,r=3:

24nx3*=3(kx 0+ C)

= 108n = 3C

= C = 36n
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Att=3,r=6:

>4nx6°>=3(kx3+C)

= 864n = 3 (3k + 36n)

= 3k = -288n - 36n = 252n

= k = 84n

Substituting the values of k and C in equation (1), we get:
47’ =3[84m +36:'1:]
= dqr’ =4 (63r+27)

= =631+27
|
== {63r+2?}|’

!
(63r+27)

Thus, the radius of the balloon after t seconds is

In a bank, principal increases continuously at the rate of r% per year. Find the value of r
if Rs 100 doubles itself in 10 years (loge 2 = 0.6931).
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Answer
Let p, t, and r represent the principal, time, and rate of interest respectively.

It is given that the principal increases continuously at the rate of r% per year.

dp [ r )
ol —|p
df L]ﬁﬁ J

$@=[L'm
P 100 )

Integrating both sides, we get:

— |dlt

i
p o100

_>]ugp:%1k

= p —em ~(1)

It is given that when t = 0, p = 100.

=100 = €“... (2)

Now, if t = 10, then p = 2 x 100 = 200.
Therefore, equation (1) becomes:

I.J.

200=¢"

= 200 =" ¢

= 200=¢" 100 (From (2))
= el =2
- _ log, 2
10 ’
-
= —=0.6931
10
= r=6.93]
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Hence, the value of ris 6.93%.

In a bank, principal increases continuously at the rate of 5% per year. An amount of Rs

7 = 1.648
1000 is deposited with this bank, how much will it worth after 10 years(‘ ) .

Answer
Let p and t be the principal and time respectively.

It is given that the principal increases continuously at the rate of 5% per year.

- N

u:r] f 5 1
= —=|—|p
de 1100

dp _p

dt 20

dp  dt
= —=—

p 20
Integrating both sides, we get:
j‘ﬁ = L dr

po20

i -
= logp=—=+C(
g 20
-

! "

_>p:e£“ (1)

Now, when t = 0, p = 1000.

= 1000 = €° ... (2)

At t = 10, equation (1) becomes:
_I||('

p=e!

= pP= e et

= p=1.648x1000
= p=10648
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Hence, after 10 years the amount will worth Rs 1648.

In a culture, the bacteria count is 1,00,000. The number is increased by 10% in 2 hours.
In how many hours will the count reach 2,00,000, if the rate of growth of bacteria is
proportional to the number present?

Answer

Let y be the number of bacteria at any instant t.

It is given that the rate of growth of the bacteria is proportional to the humber present.

dv
dr
. .
- % = kv (where k is a constant)
{
.cl"'L'
== kel

3
Integrating both sides, we get:

dy

— =k |t

y I
= log v=kt+C (1)

Let yo be the number of bacteria at t = 0.

=>logy,=C

Substituting the value of C in equation (1), we get:
log v =it +log y,

= logyv-logy, =kt

L
)
:;~log['— |—k.f
Yo )
I"\.

L Yo

= &t =log

A

Also, it is given that the number of bacteria increases by 10% in 2 hours.
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110
= V= Va
o100
vy 11 .
_:-,,'_:_ sa | =
v, 10 (3)
Substituting this value in equation (2), we get:
'l ™
k-2 =log ll|
10
| 11
= k==log
2 Wb[]ﬂ]

Therefore, equation (2) becomes:

Lo -[HL =lo ,{L\]
E\IH; - El};z

2
[
2log| J
LM,
ﬁj:ﬁ .-.-.-{4]

Iug[t ”}/J

Now, let the time when the number of bacteria increases from 100000 to 200000 be t;.

=>y=2y0att=t1

From equation (4), we get:

il

v
2log| -
élk _L}_,J _ 2log2

3 A
Iog[ll ]Og[IIJ
10 ) 10

N,

2log2
i
|UE-L 11

Hence, in 'D] hours the number of bacteria increases from 100000 to 200000.
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@ _ e 18
The general solution of the differential equation dx
A € +e’=C
B. ¢ +e' =C

c.¢ +e' =C

p.¢ +e'=C

Answer
dv e
— =g =g
dx

dy
= — =¢"dx

e’

= e ‘dv=edx
Integrating both sides, we get:

J{: “dy =jt*"'(.l"x

= - =" +k
=g 4+ ==k
e e (c=—#)

Hence, the correct answer is A.
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[..r'ﬂ + r_r}nfr = {.1.‘? + j]ce’.\.‘

Answer
The given differential equation i.e., (x* + xy) dy = (x* + y?) dx can be written as:

dv x4+ )°
- = e . I
de a7 +xy [ )
. x4y
Let Flx, v)=——.
( ’ } x4y

[,h] HAy) 4y
(Ax) +(Ax)(Ay) x +xv

This shows that equation (1) is a homogeneous equation.

Now, F(Ax,dy) A F(x.y)

To solve it, we make the substitution as:

y = vx

Differentiating both sides with respect to x, we get:
v v

v _ VX
iy dlx

dy

Substituting the values of v and dx in equation (1), we get:
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dv % +(mx)
V+X—= #
dv x° +x{1-‘x]
dv  1+v°
= V+Xx =
l+v
dv 1+t [+v ) =v(1+v
Lt (1))
v 1+v 1+
dv _1-v
T 1+v
(1+v) dx
= | — |=dv=—
kl—vJ X
2—1+v o
::-[ m]dl': d
l—v X
3 o
:}L;q]uﬁ-:_}f
l—v x

Integrating both sides, we get:
—2log(1-v)-v=logx—logk

=v=-2log(1-v)-logx+logk

=v=log| ——
x(l—v]'
v k
= =—=log| ———
X { v
.'r| l-- J
L X
::lzlog for o
s ()
kx

=gt

= [.1.‘ = .1"]: = ke *

This is the required solution of the given differential equation.
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x4y

L}

V

&
Answer

The given differential equation is:

dy x4y

i+

Let F(x.y)=
X

Ax+Ay x+y

Now, F(Ax.Ay)= =A'F(x.y)

Ax X
Thus, the given equation is a homogeneous equation.
To solve it, we make the substitution as:
y = vx
Differentiating both sides with respect to x, we get:
dy av

i‘ s dlx

ﬁ

Substituting the values of y and dx in equation (1), we get:

= dv= i

X
Integrating both sides, we get:
v=logx+C

V ,
=~ =logx+C
X

= y=xlogx+Cx
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This is the required solution of the given differential equation.

(x=y)dv—(x+y)dx=0

Answer

The given differential equation is:

(x=y)dv—(x+y)dx=0

dv  x+y
s —— = ]
dx x-y M)
Let F(Jr._‘r} =X Y
Tox-y
. F{ﬂ.x. Av)= Ax+Ay _xty a0 F[Ly}

C Ax— Ay x-—y

Thus, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
o o
= E{l ] —E{k‘r}
dv v
= =Vt r—
A dy

dv
Substituting the values of y and dx in equation (1), we get:

dv x+1.=x_1+1'

Vhx—= =
dy x—we 1—-vw
dv 1+v |+v—v{|—1-]
—= -y
de 1—v l—v
dv 147
x—=
e 1-v
l—vw 'k
= Lﬂ dv="
[I+1='} X

[ | v ] v
— —— — |dhv=—
l+v 1= X
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Integrating both sides, we get:

) 1 . . ]
tan " v——log(1+v" | =logx+C

(1 ] :
= Lan"‘ ‘]—]—llug[l-k[‘]—] ]=lng:r+(l
X 2 X

1

:ran"'

This is the required solution of the given differential equation.

{,\‘? —y? ]rf,r+ 2xy dv=10

Answer

The given differential equation is:

{,\‘? —y? ]rf,r+ 2xy dv=10

f{l‘_‘{x:_f:}
:E_ 2xy -
Let !'{r't]—_(;—‘;‘}
T N P S 0 N B it ) AT
. f*{}{.ﬁ.,ﬁlj}—_ 22 () p——— =A" F(x,y)

Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
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o d
= —y)=—lwx
Lir{' ] dx{ )
v dv
=Vt I—
dx dx
dy
Substituting the values of y and dx in equation (1), we get:
fv = (wx)’
U el L)
dx 2x(wx)
dv v -1
v4x—=
elx 2v
Nt S ) b
dy v v
; 1+v7
e ()
dx 2v
v —dv = ﬂ
1+v X

Integrating both sides, we get:

lng(] +V ) ==logx+logC = Ir.zrgE
"

=1+v =

=|l+—=|=—
X X

=x +y =Cx

C
.

This is the required solution of the given differential equation.

L dy N
X === x =2y 4 xy

dx
Answer
The given differential equation is:

L dy
=

dx

X =2y +xy
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dy  x*=2y +xy

{l'{‘l'_.‘l.f [I}

ER YR
Let f"(,r._u-}—M.

.‘L'J
Ax) =2(ay) #(Ax)NAy) P -2vi+m
F{A.t,/l_r]:[ ) [ ) - () (4 }z ! il SRy F(xy)
' (Ax) X
Therefore, the given differential equation is a homogeneous equation.
To solve it, we make the substitution as:

Yy = vx
dy v
= =y y—
dx dv

dy
Substituting the values of y and dx in equation (1), we get:

1-'+x£ _ X - 2{1'1}? +x-(vx)

e x°

dv .
= r+x—=1-2v"+v
ax
v .
= x—=1-2v
dx

dv a oy

1-2v  x

dv e

Integrating both sides, we get:
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l
+v
%- II log “'F = log|x|+C
2 14
X\E \}5 ¥V
1 Y
I T ﬁ x| _ ¥ | x|
:}zﬁlns: iy = log|x|+C
J2oox
1 X+ 21»'|
= log ~|=log|x|+C
N P

This is the required solution for the given differential equation.

Question 6:

xdy — ydx = \Jx" + v’ dx

Answer
xdy — vy = x* + v dx
= xdy= [}- +4fx7 +y7 ].:4"_1:

[y x* “}

Let F(x,y)= YENYEV

1+m = /-LI'I . F{-I‘".ll}

¥+

Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
o o
:‘E(JJ—E{W}
dv v
= =Vt x—
dx Frks
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dy
Substituting the values of v and dx in equation (1), we get:
[ { }2
al’ ' VX + 4 /X7 + vy
Vv +Jl'—.. = ‘ul
dx X
dv :
=Vt x—=v+yl+v
dlx
dv dx
= =—

Viey' X

Integrating both sides, we get:

v+l 4+

= ]:‘.ig|:c|+lngC

log

= log %+1u|l +i—: =log|Cx

v+ [x* +_}=:
N

X

= log |Cx

= log

= pafxt + 0y =Cx

This is the required solution of the given differential equation.

r

}J-‘ci =4 Vsin

TR {1

) [
{xcos| Jr_v.ﬂ'm -

X Lx,

Y

TR N

xay

1
.‘IECE‘.IE[ .

LX) x )

Answer

The given differential equation is:
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pro{Jess )
o)) o
(o)

freoe 3 s 2]
X C0Ss + vsin
_ X X
{ . [pw [1]
¥sin = J—.‘(CE}S = X
X X

= /-]_-'ZI .F(xty}

Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
dy dv
= =yt =—
dx dx

dy

Substituting the values of y and dx in equation (1), we get:
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v [x sV +vrsin 1’} VX
vHx—= -
ey [vxsm v—.‘rm}:-u']-x

) .
d‘r‘l' VEOsSVY+v sy
S P+ —=—
alx VEINV—COS Y

dv veoosv4vsiny
=y —

o vsinv—cosy

v VCOSV+H1 SNy —v siny +veosy
=y — =

Feky VEIinv—cosy
v 2vcosv

e o — —_—
dr vsinv—cosy

VSNV —Ccosy 2elx
= | — |y =—x
VCosy X

{ 2
= L tan v —l}ﬁ-‘ = 2dx
v X

Integrating both sides, we get:

log(secv)—logv=2logx+logC

= log[ﬂ]= log(Cxl}
v

:}[SENJ oy
!.l

= secv = Cx’v

v P

= sec('—] =C-x"-—
L X x

¥V
= SeC ‘—1 = Cxy

X

v 1 11
=cos| ~ ==

) Cxpy C xy

:>-t1-'cns['—v]:k [L‘:]—]
X C,

This is the required solution of the given differential equation.
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Question 8:

xﬁ—}wﬂ:sin[i] =1
o

AY x
Answer
i . ;
xi—y+xsm [l}:{l
dx X
dy . [1]
= x—=y-xsin| —
dy X

i_w—ﬁxsin[j"j) _v—xsin(’]'l]
.._ "-I[Ax‘ij}: --1 — ,‘E' — a

(1)

Ax

Therefore, the given differential equation is a homogeneous equation.

AT F(x,v)
X

To solve it, we make the substitution as:

Yy = vx
o o
E“]_E{H}
dv v
= =Vt x—
dx dx

dy

Substituting the values of y and dx in equation (1), we get:

dv  vx—xsiny
VHx—=—————
dx X

v .
= V+X—=v—5Inv
PrAY

v e

sinv - x
dx
=5 COseC v = ——
X
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Integrating both sides, we get:

C
lug|cusecv—cul 1-'| =—logx+logC =log
x

[1-‘] ( 1'] C
— Ccosec| — |—cot| — |=—
X X X

This is the required solution of the given differential equation.

Question 9:
vy +x Iug[ijdj-' —2xdy =10
X

Answer

4

v+ x Ingtl] dy=2xdy =10
X

'
= yelv = {E‘.x—_\' log 1 W:| dy

LA
dy ¥
- E :—r,'l ...{]}
’ 21—1'0[1[' J
X,
Let F(xy)=— .
2x=xlog (1—]
X
L F(Ax.Ay)= A - F(xy)
z(ﬂ__w;}-[,l_x}lng(j_}) 2_r-1r..g[-‘_']
X X

Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
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Substituting the values of y and dx in equation (1), we get:

dv d
D _ 4 ()
dv  dx
v
—— =+ —
Y dy
ﬁ
dv s
VX —=——
dv 2x-xlogv
dv v
=V x—=
dv 2-logv
dv v
— -V
e 2- log v
ci"‘- 1.—"1'+'.I0g1
Yo a- log v
ch _viegv—v

ci‘n 2—logv
2-logv A dx
v(logv-1) X

1+(1-logv :
= —{ 051}]&’1‘:&

v(logv—1) X
B | d
=S| ——— =
v(logv=1) v X

Integrating both sides, we get:

L{lny—l} ~[Lav= [

= j’—‘
1-‘{lug v— 1}

—logv=logx+logC

—_—
I3
e

Page 66 of 120



Class XII Chapter 9 - Differential Equations

Maths

= Let logv—=1=t¢

o dr
= —(logv—1)=—
dv{ . ] dv

Therefore, equation (1) becomes:
it

= r——logv =logx+logC
i

I
= logr - IUg[J—J =log(Cx)

X

P y :

= log Iog['—] - l}— Iog['—] = log (Cx)
x X
]ug['{]—l

= log : ~—— | =log(Cx)

— -1-
::-illog

'."’I

This is the required solution of the given differential equation.

Question 10:
™y x X
l+e” r:forc-"(l—' }Jf‘f:{]
Loy
Answer
B .ox
1+e” |dx+e' (]——]aﬁcﬂ'
J.‘
Ve i1
=|1+e" |dv=-¢ [l——]a’y
Loy
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9 . ¥/
S —— el 1
T ()
I+

e"[] ‘J

Lelf"{.t'.._‘l‘}=\'—f.
|+ e
Ax I.f « " Ery oy

(-2 ()

o F(nay)=——— 2 Y gop(y )

I +e* 1+e&
Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

X = vy
d d
= —|x)=—/wy
ﬂl-'r( } ﬂf“{ = }
dv av
—_—— 1+ _-I_y_
dy dy
dx
Substituting the values of x and dv in equation (1), we get:
dv  —e'(1-v
Vot y—= { - }
dy 1+¢&
dv e’ +ve'
= y—= e |
dy l+e
dv  —e" +ve' —v—ve'
= V—= .
dy l+¢'

dv v+e'
= y—= -
dy l+e

M+e } dv
= idv=——

v+ V

Integrating both sides, we get:
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= log(v+e')=—logy+logC= lﬂg[EJ

b ..III
x lcC
=|—+te |=—
¥ v

X

= x+ye’ =C

This is the required solution of the given differential equation.

(x+y)dy+(x—y)dy=0;p=1whenx=1
Answer

(x+)dv 4 (v= ) =0

= (x+y)dv=—(x—y)dx

_d_—(x-y) (1)

dx X+ ¥

Let F{L_\-'}: _(I_JL}.
x+y
—(Ax—Ay) —-lx-y
- F (A ay) = A ) _Z(x=y) =" F(x.y)
Ax—Ay x+y

Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
o o
E“ ) E{”}
dv v

= =Vt x—
dx dx

ﬁ

Substituting the values of y and d in equation (1), we get:
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u+.r£ = —{x—wr}
ey X+vx
dv  v-1
=2vV+X—=—
de v+l
dv v-1 v—l-v(v+1)
= X—= —-y=
de v+l v+1
Tﬁ— r—1—=1% —v ~ -{1+F"'}
o v+1 v+1
- {v+11}m:= dx
1+ v X
v 1 dx
= — + = |dy==—
l+v I+ X

Integrating both sides, we get:

] ' .
;Img[\l +v" J+tan v =—logx +k

= lﬂg(]+r:]+2mn 'v=-2logx+2k

= log {] +1':J-.1'::|+2mn 'v=2k

Now, y =1atx = 1.

= log2+2tan' 1 =2k
= log2+2x " =2k
4
-2 b log2=2k
2
Substituting the value of 2k in equation (2), we get:

N
Y I B - fyMi_m® .
log(x* + ) }+4tan [IJ—_}H%Z

This is the required solution of the given differential equation.
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x’dy+(xy+y )dv=0;y = whenx =1
Answer

xidy+(xy+y?)de=0

= x'dy = —[-‘E"‘+ 3 ] dx

L) 0

dv X
—yr+1°
LEL f"‘{_‘['.‘l]"}: [TJ : ..1- }-
X
Ax-Ay+ /I_r:. — v+’
F[A.\',i}‘}=t (&) == (o - ’ }=zi"'-!-'{x,.1'}

(AxY X’

Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
o o

= —(y)=—I(n»
ufr“j dx{w}
dv dv

= ——=v+r—
dx dx

dy

Substituting the values of y and dx in equation (1), we get:

dv —[.1' -111-_{1;1_}:}

v+x—= n =—y—y’
v X
v 5
= x—=-v =2v=—v(v+2)
dx
v el

1-‘{1’+2} X
2
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Integrating both sides, we get:

%[Iog v—log(v+2)]=—logx+logC

::-—Icrg[ k =log—
2 Tlwv+2) X

v )
5[

v+ 2 X

y .
== iJ

."'_l_: x

x

’ [:

-2 ==

y+2x o x

Xty 2
SN -2)

y+2x
Now, y =1atx = 1.
-
1+ 2

:C:—l
3

5 1
C=-
Substituting Jin equation (2), we get:

Xy l

y+2x 3
= y+2x=3x"y

This is the required solution of the given differential equation.

.ol X ) T
xsin® | ——y | dx + xdy =0 y— when x =1
y o 4
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Answer

. '-XT‘\I
|:_1:5||l‘ [ —_1'}i1‘+mfr =1
X

= !
alx x [ }

|: L \ % j|

- xsln'| . J 3
Let Fx,v)= LA
X
[. : ;'//l_\'\‘ . :| { S '
=l Ax-sin”| "~ |=A¥| —|xsin| - |—)'
Ay | x .
- F(Axay)= e 2 ()
Ax %

Therefore, the given differential equation is a homogeneous equation.

To solve this differential equation, we make the substitution as:

y = vx
i o

= —(y)=—I(w
ufr“ ] ey {W)
dv v

= ——=V+r=—
dx dx

dy
Substituting the values of y and dx in equation (1), we get:

dv — [.‘: sin’ v — m‘]
Vhx—=—t
el X

dv s e
= t'+.r—:—|:s|n' V- u] =y —5in° ¥
dx

dl' .7
= X—=—-3In" Vv

dx
dv oy
sinv dy
— cosec vy = _&
X

Integrating both sides, we get:
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—cotv=—log|x|-C

= cotv = log|x[+C

= cot [ 4 ] =log x| +logC
v
= cot[l] = log |Cx]| -(2)
X,
y:E atx=1
Now, 4

= cat[EW = log|C|
4 )

= l=logC
= C=¢' =e

Substituting C = e in equation (2), we get:

(v
cotL'— = log|ex
X

This is the required solution of the given differential equation.

Question 14:

dv ¥ f )
—— —+ COSeC ”—J =0,y =0 whenx=1
dr  x X
Answer
A
dv v
————+cosec| — |:lIII
dv X X
£ LY
dv |
=== CE}EEC‘ | (1)
dv X LX)
oy
Let F'(x, y)==—cosec —J_
X WX
" Ay
F(Ax.Ay)= uuse;.l ]
Lx Ax )
v ' ™y
= F(Ax,Ay)==—cosec| = |=F(x.y)=4"-F(x.y)
X )

Therefore, the given differential equation is a homogeneous equation.
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To solve it, we make the substitution as:

Yy = vx
o i
=—y)=—|w
ufrl[' ] ch‘{ }
dy dv
L il
friy dx
dy
Substituting the values of y and dx in equation (1), we get:
v
V+X— =V—COSec v
el
dv dx
COSCC v X

. v
= —s5in vdv = —
x

Integrating both sides, we get:

cosv = log x + log C = log|Cx|

Cx

'I".‘II
:Ncos[‘— |=log
L x )

This is the required solution of the given differential equation.
Now, y = 0 at x = 1.

= cos(0) =logC

= 1=logC

=C=¢=¢

Substituting C = e in equation (2), we get:
cos[l] = log {e.r}|
=1

This is the required solution of the given differential equation.

Page 75 of 120



Class XII Chapter 9 - Differential Equations

Maths

. Ly
2xy+y =2x"—=0; y=2 whenx =1
fx
Answer
. L dy
2avE+y =2x =10
v
. dy 5
= 2x —=2xy+y
ey

dv 2xp+ v
- W _ ]

2 A1)

Z"+ ll':

X
2(Ax)(Ay)A [/].J-‘}: a 2xp+ )
2(Ax) 2x°

Ty

2
Let F(x,y)=

b 2

o F(Ax,Ay)= =A"-F(x,y)

Therefore, the given differential equation is a homogeneous equation.

To solve it, we make the substitution as:

y = vx
o il
E“)_E{u)
dv v
= =Vt r—
dx Frks

dy
Substituting the value of y and dx in equation (1), we get:
v 2:{(1-‘.'c'}+I:w:]2
dx 2x°

dv vy

VX

dx 2

=

W X

Integrating both sides, we get:
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2+1

v .

2. =log x|+ C
-2+1

5
= —-—= |ug_|.1‘| +C
N

— —% = |ng|_'c|+f.'
X

2x
= - == =log|x|+C -(2)
.1.I

Now, y = 2atx = 1.

= —l=log(1)+C

= C=-1

Substituting C = -1 in equation (2), we get:

-
. log | —1

rl..

2x
= —=1-log|x

y
2x
= yp=— (x#0,x #e)
1-log .1'| )

This is the required solution of the given differential equation.

dx ¥ )

=h
A homogeneous differential equation of the form dy ¥/ can be solved by making the

substitution

A.y =vx
B. Vv = yx
C.x =vy
D.x=v
Answer

Page 77 of 120



Class XII Chapter 9 - Differential Equations Maths

dr x )

=h
For solving the homogeneous equation of the form dy ) , we need to make the
substitution as x = vy.

Hence, the correct answer is C.

Which of the following is a homogeneous differential equation?

A (4x+6y+5)dy—(3y+2x+4)dx =0

B. (X))l — {.r? +y }c.{r =0

C (,1.‘1 +2y° }u’r+ 2xvdy =10

D. Vdx +{.1.': - =y }f{r =10

Answer

Function F(x, y) is said to be the homogenous function of degree n, if
F(Ax, Ay) = A" F(x, y) for any non-zero constant (A).

Consider the equation given in alternativeD:

_1'::4"_1'+{.1': —xy—y ]n’y =0

dy -y Vo
= = = — =
dr x —xy—)y y 4+xv—x

v

Let Fx,y)=—2
(x.5) Vxy—x°
A , 2
= F(ix. ly)= , (4) .
(Ay) +(Ax)(Ay)—(Ax)
- /{-?_1'3
a{ﬁ{'.r“ +xj'—.'r1}
0 v )
= A - -
A o Sl
=" F(x.y)

Hence, the differential equation given in alternative D is a homogenous equation.
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Exercise 9.6

Question 1:

v .
@, 2v=sinx
dx
Answer
b
Dy 2y =sinx.
The given differential equation is dx

P + py = {where p=2 and () =sin x).

This is in the form of dx

MNow, ILF = e‘ﬁw :GJ’M =g,

The solution of the given differential equation is given by the relation,
v(LF)= I{Qxl F)dy+C

= et = Isinx-e"rﬁ+ C A1)

Letf = _[sin_re:"

= [ =sinx- Ie:"dx— [[%[sin.r]- e“dr]d.‘r
=

_ s o2
= [ =smx- [(cmr 14:{1'
2 2

A

COS X ﬂ/ {L'DST e’ cﬁ|ﬁ‘ll}

ool

- et sinxy e Lm.'r_‘ilj-(bm“ }h‘

’*-"ulll X
== -

2 4
== i(Esinx—t:«crsx]—la’
4 4
5, e .
== [=-"—(2sinx—cosx)
4 4

Ir

==L (2sinx—cosx)
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Therefore, equation (1) becomes:

..
LJ-I'

(2sinx-cosx)+C

] . 2
=y = E{Zsmx—cos.r}ﬂll’ N

This is the required general solution of the given differential equation.

ay .
— +3p=e""
'y

Answer

% +py=0 (wherep=3and O=¢"").
dx

The given differential equation is

Jaly

Now, LF =¢ Joar = ej' R

The solution of the given differential equation is given by the relation,
y(LF)= [(QxLF.)dr+C

= ye'* I[ e g "}+ C

=y’ = Ic’vufr+{_.‘

= ye' =e'+C

= p=g "+ Ce™

This is the required general solution of the given differential equation.

Y e

=X

de x
Answer
The given differential equation is:

dy

| ,
+py =0 (wherep=— and J=x")
dbx X

J '
Now, LF =;3J"”:'T :;_-'[-*"' =T —
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The solution of the given differential equation is given by the relation,
y(LF.)= [(QxLF.)dx+C
= y(x)= I[k -x]nf'r +C

= Xy = I:c"‘af'r +C
'

= xy=—+C
4

This is the required general solution of the given differential equation.

dy ( s
——+secxy = tan xL 0<x < —]
fis 2

Answer

The given differential equation is:

v

T + py = (where p =secx and () = tan x)
v

[ e
. =secx+tanx.

J}“-'—“ — flu‘_[w-.-..rltau vl

Now, LF =¢ =¢
The general solution of the given differential equation is given by the relation,
y(LF)= [(QxLF)dr+C

— y(secx+tanx) = J-tan x(secx+tanx)dy+C

— y(secx+tanx j'sec xtan xdx + Itan P xdy +C

}:
— y(secx+tanx)=secx+ j{sa. x—1)dv+C
J=secx+tanx—x+C

= y(secx+tanx

X

_[3 cos 2xdx

Answer
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m
Let/ = j cos 2x dy

fsin2x )
Il.:ns 2xdx = |

/

= F[.‘r}

By second fundamental theorem of calculus, we obtain

n

!:F[;J—FW]

g

[sinm —sin0 |

bodr |

[0-0]=0

bd | = pd | -

dy 2
x—+2y=ux logx
dx

Answer
The given differential equation is:

dy

il
x—+2y=x"logx
i
dv 2
= —+—y=xlogx
de  x

This equation is in the form of a linear differential equation as:

Iy 2
a v =0 (where p==— and O = xlogx)
dx x

2
iy y 2
2oz x log =
T = gt Y _ ST _ N d

Now, LF = GJ’I”H = cI

The general solution of the given differential equation is given by the relation,
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v(LF.)= J'{Qx LF.)dx +C
—1 _1'-.1’: = j(.t‘]ug.r-.r:}d1'+C

= x'y= J(l log .\'}dx +C

= x'y =logx- [.\"dx-j i(Img x)- [.\"dx}ffwc

) Cdx J
ﬁ_t:_l':lﬂg:rft —ﬂ Lx |ra’x+C

4 | X 4 J

PR
= xy= X logx 1 J.r".:."x+ C
4 4
= x y = X 08X log x —l-L+ C
' 4 4 4

= x'y %.\'J[allog:r—lhf

= 1, (4logx—1)+Cx "
6

ey 2
xlogxr—+y=—logx
el x

Answer
The given differential equation is:

v 2
xlogxr—+y=—logx
dx X

:>£+ J 2

dr xlogx x°

This equation is the form of a linear differential equation as:

dv 3
Tr + _plll.' = (_) {'Llp']]e-l.e p = and Q — _2}

X Xlogx X

Jrce JII - log{kog )
Now, LF =¢” =& =™ =logux.

The general solution of the given differential equation is given by the relation,
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y(LF) = [(QxLF)dx+C

.
= ylogx= J‘[%logx}(h%{: (]}

¥

2 A I
Now, [[ - |ﬂ_‘.:lIJ|'.i1' =2|| logx-—; ]d‘r.
X X

—
-

=2 -lng x- LL dx— J{;—i{lng x)- J'% fi‘f}(ﬁ'j|

Aoar{- - ()

=2|- log x + J-L,nh}
X X

[ logx 1
9| _20gx 1
x x

= —E(I+ log x)
X

"
J—[%ngjdx
Substituting the value of "~ in equation (1), we get:

viogy = —E{l +logx)+C
x

This is the required general solution of the given differential equation.

Question 8:

(1427 )y + 23y dx = cot xdx(x #0)
Answer

{l +x )u{v +2xv dx = cot xdx

dv  2xy  cotx
===
de 1+x° 1+x

This equation is a linear differential equation of the form:

fv 2 0L
{'—+}J}’=Q{Whﬁmp= Y, and 0= - i]
dx 1+ x° 1+x

Now. LF =£,J-'”:'I'T :EL;.;_,-ILL _ eh’ﬂlw.] B
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The general solution of the given differential equation is given by the relation,
y(LF.) = [(QxLF.)dv+C

— _1.-{| +x"} = ﬂ cot :: x{l+_1::jj—‘r£r+f_1

1+ x°

= ,L'{I +.r‘}}: Icnt xdx +C

»

= }'(I +x }: log [sin x|+ C

dv
& Fy—x+xycotx=0(x=0)
ax

Answer

dy
x——+y—x+xycotx =10

oy

dv
= xi+.1-'|[l+_rcot.'c]=x
dx

dv (I ]
= ——+| —+cotx |y=1
de \x

This equation is a linear differential equation of the form:

£+PJ’ = (J (where p =l+cm xand O =1)
X

dr

. I )
| gt l- P [ lovg b i v lesg| xsin .
Now, LF =¢'° =¢ = gliertiestanal el — ygin x,

The general solution of the given differential equation is given by the relation,
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y(LF) = [(QxLF)dx+C

= y(xsinx) = I[]x.x-sin x)dx+C

= y(xsinx)= I{xsiﬂ,‘r}{ir+(_'

= y(xsinx)=x [sinxdx - J.[%[.r}- [sin :u.:ir} +C
= y(xsinx) = x(-cosx)— [I-(~cosx)dr+C

= y(xsinx)=-xcosx+sinx+C

—Xcosxy  sinxy C
+ +

:> |.I'.l = " . "
¥sinx  xsinx xsinx
I C
= y=—col-x+—+—;
X xsinx

This is a linear differential equation of the form:

4, px =0 (where p=—land 0= y)
dx
— il

Now, L.LF = cfﬂm = cf =,

The general solution of the given differential equation is given by the relation,
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x(LF)= [(QxLF.)dv+C
= xe ' = [{_1'-9 ! ]Iﬂ’_'r+C

= xe = y- je'-" dv - IL?: (v) _[E""civ}cir +C

=xe " =y(-e7)- I{ —e " )dy+C

=xe ' =-ye '+ |le'dyv+C
=xe'=—ye'—e"+C
=x=—y—1+Ce¢

= x+y+1=Ce’

v dx +(.r -y )ﬁ{if’ =1
Answer
vy +(.r— v )ﬁfr =10

= yev = { V- —.r)({\-'

de v o—x Y
= —= =y—=

dy ¥ ¥

dr x

R,

dv

This is a linear differential equation of the form:

%ﬁr + px = Q (where p = lam:l O=y)

dx ¥

. I h .
Now, LF =e” :e[' =" =y,

The general solution of the given differential equation is given by the relation,
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(L) = J(QxLF.)dy+C
= xy= J{L . _1‘)uf1= +C

= xy= J_v:f.{;' +C
3

v \
= xy="—+C

(_r 37 };i =y(y=0)

fv
Answer
{1. +31‘:}q1': =3
dx
dv
dr  x+3y°
de_xe3 x
d) ) v o
- dt X _3,
{,{1" JI

This is a linear differential equation of the form:

h

[
Now, L.F :r:'[p:"' =¢ V=g "™ =g

long!

The general solution of the given differential equation is given by the relation,

d + px = (where p=— ] and 0 =3y)
H WV

o
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x(LF.)= [(Qx1F.)dy+C

1 1
= xx—= ﬂ/ 3}'X—]£f¥' +C
iy \ ¥

%= 3y+C
y

= x=3y +Cyp

v . n
i F2ytan x =sinx; v =0 when x=—
dx 3
Answer

dy

——+2ytan x =sinx.
The given differential equation is dx

This is a linear equation of the form:

dv .
‘;1 +py =0 (where p=2lanx and J =sin x)
dx

I e ’1 Ztan vl Mog|see JI-.\-5|_1|:|:' g

Now, L.LF =¢'" =e =e = =sec” X,

The general solution of the given differential equation is given by the relation,

y(LF) = [(QxLF)dx+C
= (sec’ .1.'] J{sin x-sec’ x)dx+C

= psec’ x = j{a ecx-fan x Jdv +C

= ysec” x=secx+C (1)
yv=0atx= T

Now, 3

Therefore,

AT T
0 see” - =sgec—+C
a3

= 0=2+C
=C=-2
Substituting C = -2 in equation (1), we get:
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vsec  x=secx—2

= p=cosx—2co8 x

Hence, the required solution of the given differential equation is

Answer
{]+.T:}£+2.1‘_1’= : -
dx l+x°

dv 2xy ]

A

de  l+x fl+x:}_

This is a linear differential equation of the form:

T -
ﬂ+ pv =0 (where p = =t —and O = ]—1}
dx 14 x° {l+x:

J‘].‘..l". f .
el =E-,Il--,'-_-llli-_u |

falth q
Now, LF =E’[ =g =l+x.

The general solution of the given differential equation is given by the relation,

v(LE.)= I(Qx LF.)dx +C

1 . §I+x:'} dx +C

:,y(|+_,(—}= {]+J;-‘}' |

::>_1'(|+.1'3}= I] +I cdv+C
x

:>}={I+.\':}=1ﬂn" x+C {1}

Now, y = 0 at x = 1.

Therefore,

O=tan'1+C
n
=C=—
4

y=cosx—2cos’ x.
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- T
C=—
Substituting 4in equation (1), we get:

,1'(|+.r:}=tan I.‘{'—E

This is the required general solution of the given differential equation.

dy . m
—=3ycotx=sin2x;y =2 whenx = >
i

Answer

2 _3ypcotx=sin2x.
The given differential equation is dx

This is a linear differential equation of the form:

& + py = (where p = -3cot x and O =sin 2x)
x

0. N (o
NOWI. I_F _ l:“[_lu:.f:u _ e .-uJLhI.I.:.'Z: e Slogsin ¥ — e B i _ I

Csin’x
The general solution of the given differential equation is given by the relation,

¥(LE)= [(QxLF)dx+C

] . | .
=y ——=||sin2x.—— |dv+C
5N x 51 X

= ycosec’x =2 J{ cot xeoseex ) di +C

= ycosec’x = 2cosec x+C

2 3
= V== o+ )
COSEC™Y  COsec X
= y=-2sin" x+Csin’ x (1)
FIY
r=2atx=—.
! 2

Now,
Therefore, we get:
2=-2+C
=C=4

Page 91 of 120



Class XII Chapter 9 - Differential Equations Maths

Substituting C = 4 in equation (1), we get:
y=-2sin’ x+4sin’ x
= y=4sin’ x—2sin" x

This is the required particular solution of the given differential equation.

Find the equation of a curve passing through the origin given that the slope of the
tangent to the curve at any point (x, y) is equal to the sum of the coordinates of the
point.
Answer
Let F (x, y) be the curve passing through the origin.
dy
At point (x, y), the slope of the curve will be dy
According to the given information:
dy

—=x+y
dx

v
———y=x
dy

This is a linear differential equation of the form:

v :
&y py =0 (where p=—1and 0 =x)
X

(—1)eix

Now, LF = el = o0 _ s

The general solution of the given differential equation is given by the relation,

y(LF) = J(Qx1F.)dx+C

= ye ' = [xe dx+C (1)
Now, I.w Tdv = x _[c "elx — [[%{1} IL‘ 'Trf.ti|n’.1.'.
=—xe - ‘[—e'“ufr
=—xe +[_—-': “)

=—¢ "(x+1)
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Substituting in equation (1), we get:

}w_Tz—ﬂf’{N+|}+['
= p=—(x+1)+Ce¢’
= x+y+1=Ce" -(2)

The curve passes through the origin.
Therefore, equation (2) becomes:
1=C

>C=1

Substituting C = 1 in equation (2), we get:
x+y+l=¢

Hence, the required equation of curve passing through the origin is""J’-""“1 e

Find the equation of a curve passing through the point (0, 2) given that the sum of the

coordinates of any point on the curve exceeds the magnitude of the slope of the tangent

to the curve at that point by 5.

Answer

Let F (x, y) be the curve and let (x, y) be a point on the curve. The slope of the tangent
ﬁ

to the curve at (x, y) is dx

According to the given information:

dy

—+5=x+y
dx

u".
= '—L—_r =x—13
dx

This is a linear differential equation of the form:
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% + py =0 (where p=—1and { =x-35)
dx

MNow, I.LF = c—"[".k'h' =L’ﬁ e =g ",

The general equation of the curve is given by the relation,
y(LF) = [(QxLF.)dx+C
= y-e' = “1 S)edv+C (1)

Therefore, equation (1) becomes:
ve " =(4-x)e " +C

= y=4—x+C¢

= x+y—-4=Ce¢" -(2)
The curve passes through point (0, 2).

Therefore, equation (2) becomes:

0+2-4=Ce

Substituting C = -2 in equation (2), we get:
x+y—4=-2¢

= y=4-x-2¢
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This is the required equation of the curve.

D
The integrating factor of the differential equation dx is
A.e™
B. e”
1
c. ¥
D. x
Answer

The given differential equation is:

dy ,
x——y=2x"
dy
dv
——==12x
dr X

This is a linear differential equation of the form:
; 1 _

il + pv =0 (where p=-— and 0 = 2x)

ey X

The integrating factor (I.F) is given by the relation,

J'_.x.'.

=4

Hence, the correct answer is C.

The integrating factor of the differential equation.

- i
l— v | —+w=ay(-1=<yv=<]
(1-2 ]dy w=ay(-1<) }is

A. _]'J -1
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—

{12 —1
B. V!

c. =Y
!

3

p. V1=V

Answer
The given differential equation is:
.y dx
(l_}"]_+)’-‘f=“.l'
dy
dy yx ay
= =t =—
de 1-y 11—y

This is a linear differential equation of the form:

dx +py =0 (where p = — ¥ and 0= &
dv |t -y

The integrating factor (I.F) is given by the relation,

J'_.x.'.

e

Hence, the correct answer is D.
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For each of the differential equations given below, indicate its order and degree (if

defined).

u’ Vs, | " dy ] 6y = log.x
(i) e oy
EAa —4[£] +7y=sinx
(ii) L 6{1].1'; \-flh'_ ’
4., i 3 1 \I
{il —sin ”r—" =0
aGii)y W
Answer

(i) The differential equation is given as:

d'v _ (dv
—+5x| — | —6y=logx
dv” dx

:>”I-'El+5.1-‘[£] —by—logx=

dx” dx
d’y
The highest order derivative present in the differential equation is d’ . Thus, its order is
d'y
two. The highest power raised to di’ is one. Hence, its degree is one.
(i) The differential equation is given as:
|ij—1\| —4[%] +T7y=sinx
(dy v Y

SBEE
| dx i

+T7y—sinx=0
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dy
The highest order derivative present in the differential equation is dx Thus, its order is
dy

one. The highest power raised to d¥ is three. Hence, its degree is three.

(iii) The differential equation is given as:

d'y . r.‘flj-' \

——S8In| —

dx | dx )

=0

d’y
The highest order derivative present in the differential equation is d’ . Thus, its order is
four.

However, the given differential equation is not a polynomial equation. Hence, its degree
is not defined.

For each of the exercises given below, verify that the given function (implicit or explicit)

is a solution of the corresponding differential equation.

: Vo A dy :
yv=ae +he™ +x° : X d : 2% —xy+x —=2=10
0) ax dy
y=e" [.:fcm;.r +hsinx) : {f-'zl -2 b F2y=10
(i) dx” alx
¥ =xsin3x : a;! +0p—6eosix=10
(iii) dx
' =2y"logy : [_\': + 1HJ£ ~xy=0
(iv) el
Answer

(i) v =g +he™” +.‘L':

Differentiating both sides with respect to x, we get:

dv . -
= —=qg¢ —he " +2x
dr
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Again, differentiating both sides with respect to x, we get:
d’y

—=ge' +he™ +2
d’r..

dy d’y

Now, on substituting the values of dx and dx" in the differential equation, we get:
L.H.5.

dv ; 5
1—1' —~2i—x;-'+x' -2

dx” fiky
= :r(r:e" +he™ 4+ 2} + 2(({3’" —he™ + 2_1.'} — _r(ae i he 4 x° )+ x'=2
= (u.\‘{*" +hyve "+ 2.r] +(2r:€v —2he™ + -l.r)—(u.ri*" +hye T+ .r")+ ¥ =2
=2qe" —2be" +x* +6x-2
= ()

= L.H.S. # R.H.S.

Hence, the given function is not a solution of the corresponding differential equation.
iy * " (acosx+hsinx)=ae’ cosx+be" sinx

Differentiating both sides with respect to x, we get:

dy

- =g- d {L*"" cnss.‘r)+h~i{.e‘ .‘iinx}
oy iy dx ’

:}T{l =;..r{'¢*" cosx—e’ sin .r]+h~{cf‘ sinx+e¢ cnss‘)
X :

v .
= TL =(a+b)e" cosx +{h —a)e’ sinx
ax

Again, differentiating both sides with respect to x, we get:
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-

i’% :{cr+b]-%[e” cm‘,x]+[h—ﬂ};—i(e"ﬂin1‘)

= l:r;1 = {a + .FJ}- [t*” CcosxY—g" 8in x:|+ (.FJ - a][e” SN X +e” cos _\;:I

= d_'fl =¢'[(a+b)(cosx—sinx)+(b—a)(sinx+cosx) ]|
frhw

= u:_'t =g [.-;.rmsx —asinx+hcosx—hsinx+hsinx+bcosx—asinx— acos.r]
ax

= :Ir: - [EUT (bcosx—asin \}]

ﬂ’:y a’_}
Now, on substituting the values of v’ and ¥ in the L.H.S. of the given differential
equation, we get:
dy . dy

—— 4242y
v ax

=2e" (bcosx—asinx)-2e’ I:[a +b)cosx+(b—a)sin x} +2e" (acosx+bsinx)

| (2bcosx—2asinx)~(2acosx+2bcos x)
=¥

—(2bsinx - 2asinx)+(2acosx +2bsinx)
=e" [{Eh ~2a-2b+2a)cos .1'] +e” [{ -2a-2b+2a+ Zh]sin_\']
=0
Hence, the given function is a solution of the corresponding differential equation.
(iii) V'~ xsin 3x
Differentiating both sides with respect to x, we get:
dy _d

=—(xsin3x)=sin3x+x-cos3x-3
de

v
= Y_ sin3x + 3xcos3x
dr

Again, differentiating both sides with respect to x, we get:
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dy d,. . | .
—=—(sin3x)+3—(xcos3x)
dvt ey clx
d*y .
— =3cos3x+3| cosdx+x(—sin3x)-3
fri 7 JI: } [ } :I
= d—l =beos 3y —9xsin3x

v
d’y
Substituting the value of dx" in the L.H.S. of the given differential equation, we get:

d—{+‘)_}'—ﬁc053x

dx”
=(6-cos3x—9xsin3x)+9xsin3x—6c0s3x
=0

Hence, the given function is a solution of the corresponding differential equation.
(iV) X = 2)*" IDg }"

Differentiating both sides with respect to x, we get:

2x=2. % = {y"' Iﬂg_v-l

dy o 1 dy
= x=|2y-logy-—+y ——
T odx v dx

v
—x=(2y log y+y)
dx
de  y(14 Elng_ﬁ‘}
ﬁ

Substituting the value of d¥ in the L.H.S. of the given differential equation, we get:
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[1.1 + r"]ﬁ—u
o
={2_]"1 11)g_\'+}-'1}-;—.1j'
¥(1+2logy)

=y (1+2logy) ——————xy

A+ 2logy) e )
=Xy -y
=0

Hence, the given function is a solution of the corresponding differential equation.

Form the differential equation representing the family of curves given by

x—a) +2y° =d’ . .
l: } - where a is an arbitrary constant.

Answer

{.\'—a}: +2y =a

= x +a -2ax+2y' =a’

=2y =2ax-x’ (1)
Differentiating with respect to x, we get:

dy  2a-2x

2y—=
Ty 2
ﬂ _a-x
dv 2y
:>ﬂ _ Qv —2x° {2}
dx 4xy

From equation (1), we get:
2ax=2y" +x°
On substituting this value in equation (3), we get:

dv 2y% +x7 - 2x°

dx dxy
dy 27 —x°
dx dxy
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dv 2y —x
4xy )

Hence, the differential equation of the family of curves is given as dx

-

vy =Xt 4y
’ ( : ] is the general solution of differential

Prove that

(x" =307 v =y =32y )dy

equation , Where c is a parameter.

Answer

{;,r" —3x” ]dx =(»"=3x"y)dy

dy  x'-3x°
dv v =3xy

This is a homogeneous equation. To simplify it, we need to make the substitution as:

V=¥
bl o

= —|y)=—wx
)=o)
dy v

= —pdyr—
dr o

dv

Substituting the values of y and dx in equation (1), we get:

oy X =3 vx)’

il [111_1(]i -3y [1‘_1']
dv 1-3"
= V+X = —
dv v =3v
dv 1-37°
== X—=— -y
de v =3v
d'l.- ]_31-'3 —1-'[1'3_31']
= X—= —
v v =3
dav 3 -y
Tde vi=3v
{ —3 ) ) i
(Y3
1—v" X

Page 103 of 120



Class XII Chapter 9 - Differential Equations

Maths

Integrating both sides, we get:

I(‘;__I:"]fﬁ':]nngngC' -(2)

v =3 )

( 1 viav velv
Now, dv = -3
JL - /.| JI—TJ j]—v*
£ ™ 1
¥ =3y vy vely
= =1 =31, where ! = and /[, =
J‘Ll—qu‘ S ' -[I—q'J : II—r*
Let1—v' =1
e ot
1) =5
fﬁ'{ } dh
::’—a'-hr-"—ﬂ
v
:;,-,1'*m-:_ﬂ
4
—dlt |
Now. /= |—=——logr=——log{l-+"
=1, : g(1=v")
And. ] =J-m’1 =_[ vdv :
= o)
Letv = p.
i( :]_ﬂ:”
Tt T
:t>2||—ﬁ
dv
:t’vch':ﬁ
2
1 ] 1 ] 1+v7
:;»L:—I dp‘= log +p|:_10g H‘
P2d-p 2x2 Cli-p| 4 |1y

Substituting the values of I; and I, in equation (3), we get:

v = 3w ] - Wy 3
J.[ - }cﬁ ——Ilog[l—v ]—Elog

v

Therefore, equation (2) becomes:
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-
-

%Iug(l - ) ~—log

1+v* N
~ =logx+logC

/ -t
J—%]{:g (I—v*][ i | 1: | =logC'x
; ==y
3yt
14
= Elﬂ!i: =(Cx)*
—y
I
)
J:I v Voo
X

1

— {xz _1'1)= C- {.1:3 | _1=1]_
=xi-yt= L’(f + } . where C ="

Hence, the given result is proved.

Form the differential equation of the family of circles in the first quadrant which touch

the coordinate axes.

Answer

The equation of a circle in the first quadrant with centre (a, a) and radius (a) which

touches the coordinate axes is:

{x—a}:-i-{y—a}::a: (1)
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YJI.

wlet @l

Differentiating equation (1) with respect to x, we get:
v
2{_1:—a}+2[_1-'—a]i: 0

dx
= (x—a)+(y-a)y'=0
= x—a+y —ay'=0
= x+pn' —a(l+))=0

x+ '
1+

= a=

Substituting the value of a in equation (1), we get:
. Ir". : - F 2 i . :r :
.1.‘—[ X+ 1 | + oy X +_‘If'|r | X + _ljr
1+ "|,"l . I 1+ ¥ 1+ ¥
(x=y)»' [ [y=x ’ x+ ’
= + =
(1+) 1+ ' 14y
= (x- ,‘"}: Y (x- J‘}j =(x+ j-:u"}:

= (- yy 160 = (x4 29)

A

Hence, the required differential equation of the family of circles is

'.‘ 4

[.1.- —_j-']] [] +{y'}'} = [:\. +Jj_‘r}
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v \I_" ~0
Find the general solution of the differential equation dx I-x
Answer
L' ||l - L
1"1 1-x
v’l -
= = 1
dx 1-x°
. dv  —dx
“||II_J."1 \JIII—.T:‘
Integrating both sides, we get:
sin” y=—sin"'x+C
= sin 'x+sin” y=C
dy Vv +y+l 3
¥4+l

Show that the general solution of the differential equation dx

(x+y+1)=A(1l-x-y-2xy), where A is parameter

Answer

dv ¥ +y+l

de x +x+1
e .1’: + ¥ +1

_dr_ ()

=0

dx x+l
v —d
= =—
¥+yr+l 2 +x+l
dy dlx

=0

ya+v+l x+x+l1

Integrating both sides, we get:

is given by
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dy d .
J‘ +I.r:+fc+I:(

v+ y+l
= I fﬁ? 2 +j f‘{l- r — 2 :C
[_1’+1 +{ﬁ] [.r+l] +[ V- ]
2, 2 2) | 2
L 1
- | v+ - | x4+
= ——lan~ = |+ —=1lan" = |=C
3 NERN N E) J3
L 2 2
R 2»+1}+m“_[2;.+1}=£c
LB V3 2
[ 2‘>+|+2,‘C+|
— tan” 3 3 [_\3C
] (2y+1) (2x+1) 2
. V3B
I 2x+2y+2
aC
= tan ' V3 Vac

1_[4.1’_]-‘+2.1’+2_1-'+|\' - 2
s )

- an i ExE{.T+_v+I} ]=J5[3

3-4xy-2x-2y-1 2

s

— tan

a.u'E[x+y+I] e
2(1-x-y-20) | 2
\fﬁ(,r+.1'+l] =tan[

E[I —x—vy-2xy)

ey

s
—

I

] = B, where B= tan[ J;L ]
N
:,‘vr+r+1—23(l vy —2xv)

5
= x+y+1=A4(1-x—y—2xy), where A==

] B3

Hence, the given result is proved.
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{

Find the equation of the curve passing through the point L

equation is, SN xcos yilv +cos xsin ydy =0

Answer
The differential equation of the given curve is:
sin x cos vdv + cos xsin pdy =0

§in x cos yex +cos xsin ydy 0

COS X COS ¥

=> tan xdx + tan ydy =0
Integrating both sides, we get:
log(secx)+log(secy)=1logC

log (secx-secy)=logC

= secx-secy=C (1)

{ '

=8

J/

0,
The curve passes through point L
~lxy2=C
= C=42

On substituting C:‘"E in equation (1), we get:

secx-sec y =2
=2

=g 1= R
Cos ¥

(7]

cCx

J2

= COS ¥ =

g
cos y =

Hence, the required equation of the curve is

™
T
0,—
4) whose differential
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Find the particular solution of the differential equation

{I"‘E‘-’ur}ﬂ{l-""(] +.1__--}@T(il:'l|‘ = ﬂ, given that y =1 When X = O

Answer
(147 )dv+(1+ 7 )e'dr =0

dy L© dx

2 =0
I+y l+e

Integrating both sides, we get:

tan ' y+ Lii‘ =C (1)

Ix

=1,

lete" =t=¢

= il{e*}=£

ax o

=e' =—
dx

= e'dy =i
Substituting these values in equation (1), we get:

. dt
tan ':L-'+j -=C
I+t

= tan y+tan 't=C

= tan 'y +tan”' (n ]:C' «(2)

Now, y = 1 at x = 0.
Therefore, equation (2) becomes:

tan ' l+tan'1=C
:ﬂtnzlf?
4 4
::.~lf.‘=:II
2

o
C=—
Substituting 2in equation (2), we get:
1

- -1 x T
tan”' v+ tan {e }:—
) )=5
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This is the required particular solution of the given differential equation.

x i x

xe’ + ]ﬂj-‘l[y =0)

ye'dv =
Solve the differential equation -

Answer

ye'dx = [xe-"' + ]f{l-‘

X

o S,
= ye =xe' +)°

Mﬂ (1)

Differentiating it with respect to y, we get:

d| = d=z
— —_—
™)y

. ff[,x“‘ dz
e 22
.]'-

dy dy
dx
= |V dy - dz
= | —m [=— (2
‘ e dv { }

From equation (1) and equation (2), we get:
&,

dy
= dz = dy

Integrating both sides, we get:
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z=y+C

= e’ =y+C

(x— ."'j{"h"" dy) = dx—dy , given that

Find a particular solution of the differential equation
y =-1,when x =0 (Hint: put x -y = t)

Answer

(x—y)(dx+dy)=dx—dy

= (x—y+1)dv=(1-x+y)dx

. ﬂ: l-x+y

dv x—y+1

b 1)) ()

dr  1+(x-y)
Letx—v=r
o et
= x—y)=
u".t‘[ ») el
adv ot
= ]-—=
ax oy
ax oy

dv

Substituting the values of x - y and dx in equation (1), we get:
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. dt -t
de 1+t
dr [I—r)
= —=]- —
dx \|+f,l
l+t)—{1-t
_di_(1+0)-(1-1)
friy 1+¢
ﬂ_ 2t
de 1+t

::»[ljjaf.f:.?riv
!

:;»[H%]d.r:hﬁr -(2)

Integrating both sides, we get:

f=2x+C

f+log

:>{x—_1']+]ug|.‘r—_1'|:2x+(:

Td
e

= log|x—y|=x+y+C ]

Now, y = -1 at x = 0.
Therefore, equation (3) becomes:
logl1=0-1+C

>C=1

Substituting C = 1 in equation (3) we get:

log|x—y[=x+y+I

This is the required particular solution of the given differential equation.

2l

e y

Solve the differential equation [

Answer

N

|

dr
ey

I{x#0)
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[_;]Lzl
\.-'I; \"T dy
ey
de  Jx Jx
_dv oy e
de Jx o Wx

This equation is a linear differential equation of the form

27
dy 1 g
—+ Py=0,where P=— and 0 = )
" N N
1
Pl |_':'l". 4 f
Now, LF = ¢l _ oI =

The general solution of the given differential equation is given by,
y(LF.)= [(QxLF.)dx+C

Iz

27 e 2Jx .
= et = J-( e ]a{r+(.
b, NII; 4

— yelt = J‘L\I‘,— dr+C
X

= yﬁ’:"l‘ = 2\'";+ C

v
2 F vcot x = dxcosec x{x =3 ﬂ]

Find a particular solution of the differential equation dx ,
x=—

given that y = 0 when 2

Answer

The given differential equation is:

ay
Y 4 veot x = dxcosec x

dx

This equation is a linear differential equation of the form
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dy
=+ py =), where p =cot x and { = 4x cosec x.
dx
. [.‘ln'.'l il xilx koelsin .
Now, LF=¢’ = rI =e¢ " =sinx

The general solution of the given differential equation is given by,
y(LE.)= [(QxLF.)dx+C

= ysinx = _[( 4xcosec x-sinx)dx+C

= ysinx =4 Ix dx +C

. X
= ysinx=4-—+C

= ysinx=2x"+C (1)

T
y=0atx=—.
Now, 2

Therefore, equation (1) becomes:

0=2x"4C
4

Substituting 2 in equation (1), we get:
: 5 T
vsinx=2x" -

This is the required particular solution of the given differential equation.

x+1)==—=2e" =1
Find a particular solution of the differential equation ~dy , given thaty =0
when x =0
Answer
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dy .
(x+1) 2L =27 -1
ey
dv dx
e’ =1 x+1
e'dv  dx
—_ = - =
22— x+l

Integrating both sides, we get:

—=log x+l|+]ug(—.' 1)

¥

2—e
Let2-¢&" =1
i . it
2-e"|=
ddy ( } dy
£
dy

= e'dt = —dli

T

= —e' =

Substituting this value in equation (1), we get:

—dr _ log|x+1+logC
f

Cx+1)
= Iﬂg‘(—f{x + ]}|

= —loglt| = log

= - ]ng|2 -’
l

2—e

= =C(x+1)

. 1
=2-eg'=—_ 2
C(I-I-l) { }
Now, at x = 0 and y = 0, equation (2) becomes:

=2 1=l1
C

=C=1

Substituting C = 1 in equation (2), we get:
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.
v+1
\ |
e =2-
x+1
2x+2-1
e =
x+1
2x+1
= e =
x+1
2x+1 -
= y=log (x#-1)
x+1

This is the required particular solution of the given differential equation.

The population of a village increases continuously at the rate proportional to the number
of its inhabitants present at any time. If the population of the village was 20000 in 1999
and 25000 in the year 2004, what will be the population of the village in 2009?

Answer

Let the population at any instant (t) be y.

It is given that the rate of increase of population is proportional to the number of

inhabitants at any instant.

dy
Sy
dr
dy . |
= —=ky (k is a constant }
of
Ty
— i = kdt

)
Integrating both sides, we get:

logy =kt + C.. (1)

In the year 1999, t = 0 and y = 20000.
Therefore, we get:

log 20000 = C ... (2)

In the year 2004, t = 5 and y = 25000.

Therefore, we get:
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log25000=%-5+C
= log 25000 = 5k + log 20000

25000 3
= 5k = 10g[ 50000 ] = Ing[iJ

k ]| /—5] {1]
= =—10 I
5 gl.\4 ’

In the year 2009, t = 10 years.

Now, on substituting the values of t, k, and C in equation (1), we get:

5
lj+ log (20000)
4

lﬂg}-‘—]ﬂxl_log
5

=logy= Iogllﬂﬂﬂﬂx(zl }

= y= Zﬂﬂﬂﬂxixi

= y=31250

Hence, the population of the village in 2009 will be 31250.

vdx—xdy
The general solution of the differential equation ¥

A.xy =C

B. x = Cy?
C.y=Cx
D.y = Cx?
Answer

The given differential equation is:

valx —xdy 0
.]'I
vidx — xdy
= — =

xy

0

is
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Integrating both sides, we get:

log|x| - log|y| = log k

= log|—|=logk
y
X
=>—=k
|.ll
I
= y=—X
k

= y=Cx where C = .:

Hence, the correct answer is C.

£+ Px=0Q,

The general solution of a differential equation of the type dy is

_1'¢>J‘|"":" = [[ng""'fr :d_'L' +C

n e v |
_1--eft = J-[Q.t'ﬁ Jf.l’ﬁ:+ C

A.

B.
L i 'y "|
.'l.‘c?'[i Y = ﬂ (‘}.c-?fi ! dy +C
C. L /
ol { . Nl j -
xe J-J = ﬂ Qe Ii ’ |r-l':\‘+{_.'
D. \, d
Answer

dx . By
—+Px=01s e-[ .

The integrating factor of the given differential equation 4
The general solution of the differential equation is given by,

x(LF)= [(QxLE.)dy+C
= x-e Jrs _ﬂr Q,Uj'”"b. \|u_'v+ C

Hence, the correct answer is C.
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The general solution of the differential equation
A.xe’ +x*=C

B. xe’ + y?

C. ye* + x*

C
C
D.ye’ + x> =C

Answer

The given differential equation is:

e*dy +(ye* +2x)dr =0

iR .
= i+ ve' +2x =10
de
Il:’;l'.
== i+_1'= —2xe"
dx

This is a linear differential equation of the form

f?l +Py=0.where P=1and 0 =-2xe™".
dx
Now, I.LF {_J_I-”-"‘ i-"llh e

The general solution of the given differential equation is given by,
v(LF.) ﬁQxLEhh+C

= ye' = I{ —2xe™" -L"']c.{r+ C

= ye' =— !’.".r dv+C

= ye' =—x"+C

= ye' +x° =C

Hence, the correct answer is C.

e'dy + (.rc** + Z.Y}cl':l.‘ =0

IS
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